Question No. 30

For resistances that are connected in paraliel, the equivalent resistance is:

O bigger than the biggest resistance bl il G
Q less than the smaliest resistance
O equal the smaliest resi &
- q st resistance Vi "~‘:’l’6—0¢1:.f
O equal the biggest resistance ik

- -5 i
L S s A 14, 1)
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Question No. 18

It 20 Nforce apphed on a 20 cm spring compresses it to 14 cm, a 30-N compressing force, applied on # within its elasticty range, will compress
by
; L . ?
KN C{f’".ﬁ—-—vdﬂ
15¢m
1. K = £ = 20 . 233 Nfewm

13 ¢m Z\_L 20-14
Sem
17¢em
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Question No. 31

Light that reflects off a convex mirror always:
¥ Fa

~

b i —— . iy

O converges

O scatters in all directions
O diverges

O meets at the focys
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Question No. 17

5-kg of a liquid absorb an amount of heat Q = 200 kcal, raising its temperature by AT = 40°C. The
specific heat ¢ of this liquid is:

@ = Clrna ﬂ‘;‘
O ¢ =0.3 kcalkg.°C
Q ¢ =0.1 kealkg.cC c = ._Q_
O ¢ =1kealkgsC At
@ ¢ =05 kealkg.oC C = 2 _ {Kcol/ kj_-"C_
S x40
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Question No. 4

If an object s not in free 1all, before it reaches terminal speed, its acceleration Is:

) more thang

_ equaltog

.+ lessthang
Zero
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Question No. 13

1
|
4 In the Celsius temperature scale, waler lreezes at

O 3¢

@ 2713°C
@ 0°C

© mec
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Question No. 10

A Treight elevalor with operator weighs 4000 NI it Is raised to a height of 20 m in 10 s, how much power is developed?

powev = W - Es . 4000x 20

| O B0 KW n + 10
! O bW
| © 200w = 800pW = 3KW

Q20w

|
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Question No. 16 o g

4850 cal of heat is equivalent (o

O 11.2kJ Qe U
© 33.5kJ swig+ @B

O 317k

@ 203k = 203013 1

1]

20.3 KC;L

|
i
\
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MKCL OES Physics AM Sem2 Final

I Question No. 6
A wrecking ball of mass 200 kg Is raised 6 m above the ground. Whal is the potential energy of the ball?

= WM [/\
O 120 kJ PE ;-
012 kJ
' 12k = 200Xx10X6
12K

W

L‘J.ODOJ'

= 11KJ_
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MKCL OES

' Question No. 2

Two forces are (F1=100 N, up) & (F2 = 100 N, right). The magnitude of the resultant (R) is{ ncafh;.]

R = J 100*+100*
) 100N

O ON = 4941 N
140N
> 200N
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MKCL OES
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In the Celsius temperature scale, water boils at- —

© 2730
100 °C
O

373 ¢C

l_'_-_\ 212 oC
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Question No. 11
A tempenature of 50 °F equals:

Q 50°¢C f A7l NVl

® 10°c 51Aip+ — 6D

@ 323<C

= LOoc
O 223<C

Save & Next A8, K
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Question No. 12

In the Fahrenheit temperature scale, water freezes at:
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Question No. 13

A temperature of 300 K equals:

Tk = T1E % 273

Q0 27°C e . Tl = TR
O 37 oC _ 300- 273
0 512 0C =27 C
L 3730
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Question No. 12 ' | e Fa

In the Kelvin temperature scale, water freezes at:

O 213K
O 32K
O ok

O 212K

PsaveRINext e Ea
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Question No. 8

Gravitational potential energy of an object is due to its:

(U acceleration
) posttion
. velocity

' lemperature
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Question No. 38

In the same medium, radio waves and light waves have the same:

© speed

O wavelength
O frequency
Q color

SAVE & Next 18 ) L
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| Question No. 20
rming force acts on an inelastic (not elastic) objectan

Whnen a defo d then removed, the object:

| O gets more mass
' O ts deformed for a short time

O does not change
' & does not return 1o its onginal shape

L
1
|
1
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Question No. 10

A 750-N load is lifted a vertical distance of 20 m in 10 s. What power is developed?

P— w . FS . 250 X20
@ 1.5kwW ¢ - 10
© 1500 kW
Q 15 kW
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Question No. 9 \L

Acantcarrying a S00-N box 1s pushed horizontally on a level ground by exerting a constant force of 200 N in the direction of motion The work done
by the weight of the box on the cart is

> 504
O 5004 Q0 %JDJI )
' 5000 J
ToJ BOX 0 juh a3 i
Sl eyss
Save & Next A5, b
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Question No. §

JOU’E!SECOHG IS a unit of:

Q Energy
< Work
" Power

' Temperatyre
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Question No. 19

It a 20-N force appbed on a 20-cm spring extends it to 24 cm, a 30-N ferce, apphed on it within s elasticlty range, will extend 1t by,

D b | V| BT ,_p;\ Bye I sid G\ Ible
o 6cm ) |
C 10em

O 2cm QON—-—-‘) 4 Cna

2 B em

30V — £ cw
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Question No. 18

It a 10-N force apphed on a 20-cm spring compresses it 1o 18 ¢m, a 25-N compressing force, applied on it within its elasticty range, will compress f
to:

10w
20cm —5 J@cwm
O 15em 251
O 18¢m e —— 15 cw
O 20cm
O 27cm

: b _I;\CG.JJ}D
jcwdmﬂg/q_:_;__) 5 59\.;% - A— Qcmc_fe:uiDN
5cwu€£2&5__gmw@q5)1

20cwn - Sem = L3
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Question No. 20

When a detormng fce acts on an elastic object wthin s elastc range and then removed, the object

O retums Dack 1o ds ongmal shape
A0S Nt return 0 &S ongmal shape
<Ot MOre mass

COMeaAs down
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Question No. 31

Light that reflects off a concave mirror ahways:

L> Dse — Q. co
 scatters in ali drections

' meets at the focus

) dwerges

_ converges
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Question No. 22

-3
0 ¢
The repulsive force between two Identical 1-mC charges separated by 300 m I1s
;‘j— 5 P/ q_L Ci-l
01N v 15107 % 1X10™
N = 9¥10 ___Z; = O.iN
300
100 N
10N

Scanned by CamScanner

Scanned by CamScanner



I
—

| Question No. 22

—_— 7 i = istance of 1 m s:
| The electrostatic force between two charged objects with qi =q2=1Cand separated by ad

| q
{ con x40 & . 9 MmN
] oow E!
.  © 9GN
i oomn

I
'
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Question No. 29

Ten | ¢ ject:
emperature is g Measure of the an object:

' hotness Or coldness of
' area of

Volume of
color of

Scanned by CamScanner

Scanned by CamScanner



MKCL OES Physics AM Se

Question No. 24

\ personpulls abox along level ground a distance of45 m by exerting a constant
toree of 200N atan angle of 30° with the ground. How much work do eshedo?

' 6000 J w= £5 cos6

4500 4

7794y = 200Xx4s cos (39)
a774 4 "

7799 1
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- Question No. 26

e

————— et e

— &
et S,
—
——

- The power developed for doing a 140-kJ work in7sis:

i‘/ODOoJ
QJ 20 kW B _%
280 kw = 140000
D280 W i
: = 20000 W
0w = 20KW
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Quostlon No. 25

daworkof210J1o place a 7-kg box on the lop ofa shelf, the height of this shelf is

If you di
PE= w

O i4m W = wmoy Lk"-‘,

O2m o

O 3 m "W = :: oy

U 1 m L . { )

T — o, — _3 Lo
-7 X 1(?
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MKCL OES Physics AM Sem2 EN

Question No. 21

The gravitahonal potential energy of an object 15 related to 1S mass 15 as follows

The larger the mass the smalier the potential enerqy
The larger the mass ine larger the potential energy
The potential enetgy coes not cepend on the mass

The potential energy depends on the square of the mass
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Question No. 26
one on an object if the object is affec

Work is d ted by:

O medium force without displacement
© small force without displacement
QO large force without displacement
© force and displacement
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. Question No. 16

—— —— S .
VI —— Ml e .

e i b T - -

- ——— i

- - ———— e —

Ifthere is a net force acting on a moving object, the object must be:

() accelerating

> large

./ moving with constant velocity
7 small
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Question No. 24
m. The weight of the beam Is:

ly lift a beam at a uniform speed a distance of 25

A work of 50 kJ Is done 10 vertical

© 200N w= F5
) 500N F'- E_
© 2000 N =
© 50N
_ 5000 = 200 M

0
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A temperature of 3(}? K equals: §
nc ' i , R
© s512°F ..s-l_li[:'l' ®— @m L C.l::.-r.l__n_l\ﬂ\ljl.{
O 17°F
O 573°F
© g1or
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| Question No. 18

- The physical quantity that measures inertia is:

O mass
O length
O volume
O area
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Question No. 21

A 0.5-kg book on a table has a potential energy of 5 J (relative to the ground). The table's height is:

PE = v\
© 03m n = ngh
O 05m - ':_'
©15m cj‘
O1m [/\-’— S :j_M
0.5 X410
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Question No. 23

The kinetic energy of an object is due to its:

) motion
) position
() area

) colour
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Question No. 18

A painter weighting 630 N climbs to a height of 5 m on a ladder What

315 PE = o,
315kJ ‘;L
315 kJ - 630XS
215 J
= 3150T
o
= 3.4KT1
-

Is the increase in gravitational potential energy of the
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Question No. 24

A ¥
400-kg concrete beam is to be raised 30 m in 30 s. How many kilowatts of power are needed to do the job?

PE = W
1 KW )= 12
- PE: s w;[u _ $00X10X 3 cocoy
2 KW
o 4KkW P, & = 120000 _ yooo = 4K W
. - 30
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Question No. 14

"It no net force acts on an object, it will move at constant velocity” is a statement of

' Newton's second law
' Newton's third law
- Newton's first law

Pythagoras principle
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Which of the foficwing cannot be a unit of heat
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I‘Question No. 17

| Fusion is the change of phase from

|

. solid to liquid
‘> liquid to gas
.+ gas to liquid

liquid to solid
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Question No. 6
- cem - O:75m -

A 2-kg laptop on a table of height 75 cm has a potential energy of (relative to the ground):
PE =L~\g‘\f\ = 2X10KTS = igl

»10J
1.5 J
< 154
<+ 180 J
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Question No. 12

The friction between two surfaces increases as:

< » area between the surfaces increases.

Nt

- » the normal force between the surfaces increases.

5 the coefficient of friction decreases.
¢ the normal force between the surfaces decreases.

ﬁ: . MFu e— Supeli
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Question No. 40

| Compared to the original object, its image in a plane mirror is:

O inverted
Il O larger
\ O smaller
'\ Q virtual

|

!
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luestion No. 35

hree aentical lamps. each of resistance 9 (). are connected in parafiel 1o a 9-V battery  The current passing through each amp i

va A
3A
1A
21)A
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MKCL Ors Physics(New)_Final_S

Question No. 29

Coutomtys force bhetween two charges q1 and g2 separalcd by a distance r s Inversely proportional to:

-

q2 only g1 92

q1 only F = K 1

. (!]‘l;' v
o~
l.:-l,AAc}::#t&)

Scanned by CamScanner

Scanned by CamScanner



Question No. 3

When two vectors do not act in exaclly the same or opposite direction, thelr resultant can be found using:

Q Circle rule

O Volume rule

O Newton's first law
© Parallelogram rule
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J.b
%
PC = “"‘S_L\ = S00x10x4 = 20000 J %,
PE = w
w - 20000 _ 45
p: ‘:E— —_— t = 'B‘ = 5000
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Physics_Semi _Final 20181

testion No. 30 e ASOO cu A

\r
‘ind the resistance of a copper wire 68 m long, with cross sectional area of 62310 cm® 220°C. The
ristivity of copperis 2t 20°Ciis 17104 QO em

P
o 1.7x10°"% 4800
0170 R - Pl LIRS s Tk
) 1700 A 6.8 2103
1170

e e e e——— s —

N TS T T
RCORR RESE IR
L Wy I -;-‘ i
. g !:"\t}\"’; -.\l‘i‘-":’.%

o
-
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! Questlon No 22
{ .

The repulsive electrostatlc force is always:

| o
' X+ =+
| negative
. . positive

L. small

> big
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Question No. 10

NOTK S0 K 20 seconds \s
1 ot an engwe that developed 10 40 A WOtk ot 450 kJ \n 30 se

1he pov
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Question No. 21

When a capacitor is connected to a battery, the plate connecled to the terminal becomes

O postiive, negative
) posilive, posilive
' negalive, posiive

 positive, neutral
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. Question No. 38
i +i—e

If Moon is 384000 km from Earth, how long does it take light to travel from Moon to Earth? (use the speed ¢ in vacuum)
3400000 Ly

) .28 _ :
G = VU 3BY000000 | 128 s
138 sl 3x 108
.78
1.2 85
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Qne Kiowatt-hout equals (hint. AWNLS = AJY.
!

1000 % 3600
. 3600000 -5
: J¢o000° J

ALK
o WO K

RISA W]
6N
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]
,‘ Question No. 25

J
Which of the following Sl units are equivalent:

T %:C/s

| © volt and ampere/ohm

~ © volt and coulomb/second

- © ampere and coulomb/second
O volt and coulomb/joule

Scanned by CamScanner
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= 612000

"

0-346
18554991 - 329 N/vain

1-86 M N/
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Quastlon No. 2

Two forces are: (F1 =12 N, west) & (F2 9 N, north). The magnitude of their resultant (R) is:

= J 11 + 92 = 1SN

(0 21N
() 3N
& 15N
o+ 221N
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An airplane of velocity (v1 = 80 km/h, north) faces a wind of velocity (v2 = 60 km/m, wesl). The resultant velocity of the planeis;

@ (140 km/h, south of west) ' R = J20*+ 60 = 100Kwm/h; wovth of —
@ (100 km/h, south of west)

© (140 km/h, north of west) |
<@ (100 km/h, notth of west)

Save & N'ektam;-“hr_ | ' - B : (i B
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| Question No. 3 (| - | B i v )

JLI L LT i i by !

/An object travels in straight line and decreases its SI;EEG U:ﬂlft!)rm'!y from JEIG}JJ mis to a full stop within 10 seconds. Its deceleration Is:
| i RVH et | b 2 f
ity iy fV g T
- - U W TR lge =Vi IR0 o Ganfe®
@ -4msis | i Q= — = 10 |
0 -2 misis T
QO -1 misls
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Question No. 3 :
u, . 2 =

A car in linear motion has initial speed = 20 m/s. If it travels for 20 seconds with acceleration = 2 m/s/s. the total distance it covers IS

S = Uf++ -l_- C-1+2

2
400 m &
1 -
200 m s =(20120) + 1 (2)(20) = &0
(. 800m
100m
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' Question No. 1

| A quantity that requires both magnitude and direction is cailed:
1

& vector

& order of magnitude
& scalar

. scientific notation
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MKCL OES

Question No. 5§

Friction on a non-moving object is called:

) terminal friction
) Kinetic friction
(. dynamic friction

. static friction
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| Question No. 1

]
|
|
i

Three forces are: (F1 =15 N, east), (F2 = 9 N, west) & (F3 = 3 N. west). Their resultant (R) is:

» 9 N, east

" 3N, west

» 3 N, east
.+ 27 N, east
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Question No. 2

A box is pulied vertically up with rope. If the tension in the rope Is 140 N, its vertical component is:

Q70N

2 100N
' ON
140N
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Question No. 3

An object travels in straight line and increases its speed uniformly from rest to 30 m/s within 10 seconds. Its acceleration |5

1 m/sis
r 2 misis
D m/sfs [}

3 m/sIs
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me N.up)&(F2 100N _up) The magndude of Ihew resull;

S XONM b

s 10N
o UoN

JON
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MKCL OES

Question No. 4

' If a stone drops in a free fall from the edge of a meuntain, the distance If covers afier 2 seconds v (i

| B ;,;)f—-ﬂ Oy S d o>
} O 120m q'T.J“’_quJJ_J|dy S = U[—‘n & =]
I < 80m .
I C 45m - S= a 42
& 20m
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Two forces are (F1 = 1’%0 N, west) & (r9 = 115 N east) Thcur resullant (R) is:
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Question No. 23

Which of the following lemperatures is NOT possible?

-278 °C
-200 °C
-274 °F
4300 °C
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h ﬁd‘ﬂh-:x(srlﬂ }, m

* (distance = speed x time)

3 10%m
© 10%m
< 10 m

© 105 m

3X109X 3 A0 = Yx10" =

apeis,’
5

10

Scanned by CamScanner

Scanned by CamScanner




, amv&unub.zl

4 w--lnwpq.—.-m--n

- - ,m_,u_A'
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" @ medium force without displacement
. @ small force without displacement
) large force without displacement

< force and displacement
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| Question No. 10

| The friction force always acts in a direction:

.

: opposite to the direction of motion
s normal to the surface
same as the direction of motion

same as the direction of weight

[
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ullet is fired from a handgun with a force F1, the handgun recdls (23,3) with a force F2. ‘We can say that

=4 and F2 are equal and opposite
=4 and F2 are equal and In the same direction

F1 and F2 are equal and perpendicular

1 and F2 are not equal
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uestion No. 1

An object travels in straight line with a constant speed of 40 m/s for 20 minutes. During this time, its acc

i 2 misls
< 1 misls
@: 0 m/s/s
o0 0.5 misss
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- Question No. 17

|, Kinguic friction 1s always o Ihe maximum static triction.

3 hay
W equalto
(0 more than

boless than
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~ At what speed does a 20-N weight have a kinetic energy of 100 J?

VE= vt
w 10 m/s J = | 2KE
, 30 mis = y
a vl _ LA
20 m/s " J—’l—; =3

40 mv/s
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Question No. 15

1 » r
ITa net force of 100 N causes a Crate to accelerate at 0 8 m/s/s, the crate's mass is

10 kg
30 kg
50 kg
125 kg
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Question No. 15

It the velocity of an object doubles. its kinetic energy

' doubles

. Quadruples (becomes four tumes)
./ does not change
¢ Inples (becomes three times)

Scanned by CamScanner

Scanned by CamScanner



Question No. 1

Two forces are (P11 - 30N north) & (F2 = 40 N north)  Thei resultant (R) s

o N south
S50 N notth-east
50 N noith west

ON north
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Questlon No 1 5

i U

A plle driver falls rreely froma hmghl of 3.2 m above a pile. Its velocity as it hits the pile is:

) 2mis
O 8mls
@ amls
(> 6mis

2as= Up{— Ui .

Vg .}.20\_54- L2
2 = 8wl/s
o - J 2(10)(3.2)+ (O)

1"
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Question No. 7

O 0 mis/s
2 m/sls
O 1misls

30-0

10

- 3wt

. s - v-q- ]
An object travels in straight line and increases its speed uniformly f

———
rom rest to gls_ m/s within 10 seconds. Its acceld

I

i
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Laai"l

A painter weighting GSEJ_cBnbs to a height of
pg = Wg_/’/k

8K oo - 31507]
kJ

e
r., u
1

[4]]

(_\
ru
. 1%

o

5 m on a ladder. What is the increase in gravlaﬁonal potential er
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Question No. 9

For a moving car, if the forward force of its engine 1s 10000 N, air resistance on t is 6000 N, and the force of friction on it is 4000 N, the car wi

| OO ‘s - i

O slow down
€ have zero acceleralicn
accelerate forward

have changing acceleration
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Question No. 3

An object is thrown vertically upward. Its speed at the maximum height is:

) zero
maximum
> Zero

< Zero
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" Question No. 24

A 400-kg concrete beam Is to be raised 30 m in 30 5. How many kilowalls of power are needed 1o do the job?

| ; L= wgl = 40X I0X30 = {20cme .
O 1 kW - P= '?(_Ui = = =0
0 AKW G = 4 Kw
2 KW
. 4 kW b
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1
Question No. 6
| Hacars average speed is 100 kmvh on a 3-hour trip, the tolal distance it covers is

s=Veut — 5 X3 =300 K

) 100 km
* 300 km
2 200 km
. 400 km

—
»
(T

i"'r.\-n',.‘”r'
S NERE U1 K
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Question No, 14

As a rock s 12lng dowy rom a tuy s

L_.‘ pOIEI)ff;?/ ene rg" 5

 polentiz energy g

€Clegsps
® pa!emf;?!and Kinetj energy;
.‘. .r- I

nclegses

o el
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Question No. 8

An object that has small nertia must have

small mass
small area
small volume

DIg mass
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Question No. 7

| The friction force between two surfaces depends on:

nature of the surfaces and the normal force

only the normal force

nature of the surfaces and their area

only nature of the surfaces
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|

Question No. 19

A 1500-kg car accelerates trom 12 km/h to 120 km/h in 10 seconds. The net force (F = ma) on the car is (1m/s = 3.6 kmm):

3.3Bwls 333w/
2 3500 N

C 2500 N T
@ 4500 N s g
10
) 3000 N )
)
/‘\j ‘{‘tf

NS - 2.997
i ™

-\
(:\‘L)’VIL (yf

Q\.’MA)‘A—-—"'P_}—)i

e N UL pour s 2
F_:_' LA O
- 1500X2.997 = 41955
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chon y =0 2)

S0N
200N
100N
1000 N

Fe

= 200M
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Question No. 10

The force that can make a 100-kg crate accelerate at 0 8 m/s/s is

:_['H o B 3 = SON
80N
10N
S0 N
125N
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if a block of wood on a 0.8-m height table has a polential energy of 24 J (relative to the ground), the mass of the block ts:

O 3xg PL = weyla
O7kg 3—_
© 1kg m = pE

O.8x10
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Question No. 25

=
A
How many kilojoules of heat Q must be given off by 15 kg of won (speafic heat = 481 Jkg *C) to cool
from 105 to 55 °C”

AT
A N W) C] = C\wA AT
23
171 Q - 48LX15X50 = .
111 kJ

~ 361 KO'[,.
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| According 10 Newton' second jay, (F=ma) jr mis kep

fCOﬂs[an t th

——

en’
CFis directyy Proportiona o the acce!eration'a
UFz am
Cas= m
UFls Inverse '-propomonaf to the acce,'erauon a

er
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Question No. 17

If you pushed a wan and it did not move we can say that there 1s

work gone on your muscies | JL‘;Lé_,

= - >F
no force acted on vour muscles
wOrk gone on the wall

no force acted on the wal
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Question No. 14

‘I no net for
C€ acts on an object, it will move at constant velocity” 1s a statement of

Newton's second law
Newton's third law
Newton's first law
Pythagoras principle
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Question No. 25

\When we heat a block of iron, the kinetic energy of the iron atoms:

_ converts to potential energy
' becomes zero
_ decreases

' increases

[— % Next 1B, s
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Question No. 4
"“j‘e’-:f":ft_: £ - N -
o 13 '-.'.'_;: e L ! o
Cecreasing A I b
Z2erp
mreas.ng
constant
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| 1fa rock falls from a balcony and hits the ground with a speed of 20 mv/s, the baicoay's besghe s

(use g = 10 mv/s?)
O “Jm 2@5 B (_//‘l.— L./f,‘z
_ 30m | é
20m I 5= -’\_’/“l_ Lr"_ A
I~
4cm L Ca
s 1200"= )% . 20w
10X 2
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Question No. 16

The energy units are........c.ccoovveeenes

@ Kilogram
O Pound

O Kilometer
O Kilocalories

Scanned by CamScanner

Scanned by CamScanner



Question No. 8

The "thermodynamic"” is

O Capacity to perform work

O Science that studies energy transformations
Q Science that studies cell movement

O Quantity of food eaten
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Question No. 30

One kilocalorie is the amount of heat that increases the temperature of 1 kg of water by

paC
10K
© 32°F

273 K
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=1and F2 are equal and opposite

=1 and F2 are equal and in the same direction
F1 and F2 are equal and perpendicular
F1 and F2 are not equal
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Question No. 3

Two forces are’ (F1 =12 N, west) & (F2 = 9 N, east). Their resultant (R) is:

o 21N, east
@ 3N, east
0 21N, west
) 3N, west

12 -9 = 3N, west
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Question No. 15

It a net force of 100 N causes a crate lo accelerate at 0.8 m/s/s, the crate's mass is:

10 kg
80 kg
S0 kg
125 kg
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Question No 27
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Question No. 5 o S A R

Two forces are: (F1 = 12 N, west) & (F2 = 9 N, north). The magnitude of their resultant (

R) is:

R- {1239z = 5N
221N

O 15N
= 21N
® 3N
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Question No. 1

Two forces are: (F1 =12 N, east) & (F2 = 9 N, west). Their resultant (R) 15

I n

@® 21N, east
' 3N, east
+ 21 N, west
» 3 N, west
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